(D 1)

BRAKE

—
-

[

71N

X

e
R 2k

=

$ Al
B

=

=
=

W3¢
+8

T

1

500

=
=

<<%
P

=

WAL AL

EN e W i

SR Tl o

(1/25,000)

R EFDIEED 4

=

ﬁ
/
P -

: i&ﬂf/f\ TORE-

000)

(1/200

SER D AR IR

=X

%
=

X1 - 5l

=5

=

Rt AR IR

]

-k R-003-2-Y - R
ERLFTBRR (003) 2

FPeAREBL A B iR

REZRDIELE

B
&
B4

=
k)
o

X
X

A e it

fiEX

354582

=

eyl

=
[==]

’

z

¢

9\

f

l%\)
ZHRE - £

—1
KB

=N
TR

. %F14038)

201

=
=

53]

Enf,\ %

(%

2/ T, FARFITORERR200000 MHEER) RUKERRE25000 (HRER) 8B L-LOTHS.

e £ 0D 7K

DML, EL iR

-




~

.‘__\__--\--\-----H..\ \ o
—_ \: B

/ A

A
4 =
/! 7 .
~J_ =

=

/_/__...::;_:::;-/-;;, g/\ — _ /

0 50

#EX—25A)

THREERRE - T KERHAINERRE

XX

TR KERILEMITREZEOREITRYT IR

AR O FE R

TEEQ@BH)BEIHSIMLUTOEHE,

TEREDOBEICLD NN 100N/ MEBR IR

REHES

-k {R-003-2-Y-R

TREOHBOTENIMERZ DR

XA

BT BR R (003) 2 {E Rtk
AR R A X 33 - R I B A X a3

LS ORE

INE

[Piges: )

FREAEL R




